
Section 5

D-SUB Hoods and Accessories



5|145

D-SUB Hoods and Accessories



Part No.

09

1 /

31
.7

30

15

5

E2
02

78
4

165X17409X

15 40 32 165X17419X

25 53
.7

35

7

165X17429X

37 70
.2

41

165X17439X

50 67
.8

17
.7

9.
3 165X17449X

 
 
  

4-40 UNC short screw

09

1 /

31
.7

45
.1

15

5

E2
02

78
4

165X17309X

15 40 48
.2 165X17319X

25 53
.7

51
.3

7

165X17329X

37 70
.2

54
.4 165X17339X

50 67
.8

57
.5

17
.7

9.
3 165X17349X

 
 
  

4-40 Unc jack screw

09

/ 1

31
.8

39
.5

15
.4

5

E2
02

78
4

165X17559X

15 40
.3

41 165X17569X

25 54 45

7

165X17579X

37 70
.2

48

165X17589X

50 67
.8

18
.5

9.
3 165X17599X

 
 
  

4-40 UNC short screw Part No.

5|146

D-SUB Hoods and Accessories
EMI / RFI shielding

On request: 
• M3 thread

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Metal Hoods, Zinc die-cast, surface nickel plated 
Straight cable entry, with cable sleeve

D-SUB Metal Hoods, Zinc die-cast, surface nickel plated 
Side cable entry, with cable sleeve



09 /

2

32

14
.8

12
.1

E2
02

78
4

165X10819X

15

1

39
.3 165X10829X

25 53
.2 165X10839X

37 69
.5 165X10849X

50 67 17
.8

14
.6 165X10859X

 
 
  

Type 1 without jack screws

09 /

2

32

14
.8

12
.1

E2
02

78
4

165X11159X

15

1

39
.3 165X10869X

25 53
.2 165X10879X

37 69
.5 165X10889X

50 67 17
.8

14
.6 165X10899X

 
 
  

Type 2 without jack screws

09-37 3-12 mm 160X11189X

50 5-14 mm 160X11199X

 
 
  

Cable clamp

5|147

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately 
On request: 
• Crimp flange

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

  D
 [

m
m

]

No. of poles Cable diameter

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries



09

1

/ 31 35
.5

14
.8

12
.1

E2
02

78
4

165X11609X

15 1 39
.4

40

165X11619X

25

2

53
.2 165X11629X

37 69
.6 165X11639X

50 67 42 17
.8

14
.6 165X11649X

 
 
  

Type 1 Jack screws

5|148

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately 
On request: 
• M3 thread 
• Crimp flange

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

Cable clamp must be ordered separately 
On request: 
• M3 thread 
• Crimp flange

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries



09

1

/ 31 50
.5

14
.8

12
.1

E2
02

78
4

165X14409X

15 1 39
.4

55

165X14419X

25

2

53
.2 165X14429X

37 69
.6 165X14439X

50 67 57 17
.8

14
.6 165X14449X

 
 
  

Type 2 Jack screws

09-37 3-12 mm 160X11189X

50 5-14 mm 160X11199X

 
 
  

Cable clamp

5|149

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately 
On request: 
• M3 thread 
• Crimp flange

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries

No. of poles Cable diameter



09-37 3-12 mm 160X11189X

50 5-14 mm 160X11199X

 
 
  

Cable clamp

09-37 165X10119X

50 165X10129X

 
 
  

Locking hooks for slide lock

09 /

2

32

14
.8

12
.1

E2
02

78
4

165X11659X

15

1

39
.3 165X11669X

25 53
.2 165X11679X

37 69
.5 165X11689X

50 67 17
.8

14
.6 165X11699X

 
 
  

Slide lock

5|150

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately 
On request: 
• Crimp flange

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries

No. of poles Cable diameter



09 /

2

31

14
.8

12
 x

 0
.9

E2
02

78
4

600X51109X

15

1

39 600X51115X

25 53 600X51125X

37 69
.5 600X51137X

50 67 17
.6

14
.3

 x
 1

1.
6

600X51150X

 
 
  

Without jack screw, internal ground

09-37 3-12 mm 160X10139X

50 5-14 mm 160X10149X

 
 
  

Cable clamp

5|151

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries

No. of poles Cable diameter



09

1

/

31 37
.2

15

8 
x 

9.
00

E2
02

78
4

600X51209X

15 39 35
.2

14
.8

11
 x

 9
.0

0

600X51215X

25 2 53 42
.7

11
.5

 x
 9

.0
0

600X51225X

 
 
  

4-40 UNC jack screw

5|152

D-SUB Hoods and Accessories Cable clamp must be ordered separately 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Metal Hoods, Zinc die-cast 
Variable cable entries

09-37 3-12 mm 160X10139X

 
 
  

Cable clamp No. of poles Cable diameter



Part No.

09

/ 1

31

10
 x

 9
.2

E2
02

78
4

600X51309X

15 39

12
 x

 9
.2

600X51315X

25 53 600X51325X

 
 
  

With jack screw, internal ground

09-25 3-12 mm 160X10139X

 
 
  

Cable clamp

5|153

D-SUB Hoods and Accessories
EMI / RFI shielding

Cable clamp must be ordered separately 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 D
 [

m
m

]

D-SUB Metal Hoods, Zinc die-cast 
Side cable entry, jack screws

No. of poles Cable diameter



Part No.

09

1 /

31
.2

38
.3

4 
- 1

3

E2
02

78
4

165X02609X

15 39
.3

40
.5 165X02619X

25 53
.4

47
.8 165X02629X

37 69
.9

52
.2 165X02639X

 
 
  

4-40 UNC jack screw

09

/ 1

31 36
.2

4 
- 1

3

E2
02

78
4

165X02689X

15 39
.5

40
.2

165X02699X

25 53
.2 165X02709X

37 69
.7 165X02719X

 
 
  

4-40 UNC jack screw

5|154

D-SUB Hoods and Accessories
EMI / RFI shielding

Attentuation factor: > 40 dB between 30 Mhz and 
1 GHz 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Metal Hoods, Zinc die-cast, surface nickel plated 
Straight cable entry, plastic strain relief



09

1

1

32
.5

41
.5

15
.4

8.
5 16-001810

15 40
.8

10 16-001820

25

2

54
.4

11

16-001830

37 70
.9 16-001840

50 68
.5

18
.4

12 16-001850

 
 
  

SnapLock, plastic black

Part No.

09

/ 1

37
.7 16-002730

15 46 16-002740

 
 
  

4-40 UNC jack screw

5|155

D-SUB Hoods and Accessories
EMI / RFI shielding

Attentuation factor: > 40 dB between 30 Mhz and 
1 GHz 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

D-SUB Metal Hoods, Zinc die-cast, surface nickel plated 
Side cable entry, plastic strain relief

D-SUB Hoods and Accessories
CONEC SnapLock

For hood to hood connection please order connec-
tion bolts separately

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

D-SUB Plastic Hoods, unshielded 
Variable cable entries



09

1

1

32
.5

41
.5

15
.4

8.
5 16-001750

15 40
.8

10 16-001760

25

2

54
.4

11

16-001770

37 70
.9 16-001780

50 68
.5

18
.4

12 16-001790

 
 
  

SnapLock, plastic metallized

5|156

D-SUB Hoods and Accessories
CONEC SnapLock

For hood to hood connection please order connec-
tion bolts separately

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

Part No.

D-SUB Plastic Hoods, shielded 
Variable cable entries

16-002200

 
 
  

Locking Kit hood-to-hood

D-SUB Hoods and Accessories
CONEC SnapLock

Part No.

Kit Encoding Connection bolts 
for SnapLock



09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X11709X

15

39
.6

2

9 165X11719X

25

53
.5

2

11

165X11729X

37 69
.8 165X11739X

50

67
.4

1

19 14
.5 165X11749X

 
 
  

Plastic black, jack screws with plastic head 4-40 UNC

09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X00829A

15

39
.6

2

9 165X00839A

25

53
.5

2

11

165X00849A

37 69
.8 165X00859A

50

67
.4

1

19 14
.5 165X00869A

 
 
  

Plastic black, jack screws 4-40 UNC

5|157

D-SUB Hoods and Accessories

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, unshielded 
Side cable entry



09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X16069X

15

39
.6

2

9 165X16079X

25

53
.5

2

11

165X16089X

37 69
.8 165X16099X

50

67
.4

1

19 14
.5 165X16109X

 
 
  

Plastic grey, jack screws 4-40 UNC

09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X16019X

15

39
.6

2

9 165X16029X

25

53
.5

2

11

165X16039X

37 69
.8 165X16049X

50

67
.4

1

19 14
.5 165X16059X

 
 
  

Plastic grey, jack screws with plastic head 4-40 UNC

5|158

D-SUB Hoods and Accessories

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, unshielded 
Side cable entry



09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X11759X

15

39
.6

2

9 165X11769X

25

53
.5

2

11

165X11779X

37 69
.8 165X11789X

50

67
.4

1

19 14
.5 165X11799X

 
 
  

Plastic black, jack screws with plastic head 4-40 UNC

09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X00779A

15

39
.6

2

9 165X00789A

25

53
.5

2

11

165X00799A

37 69
.8 165X00809A

50

67
.4

1

19 14
.5 165X00819A

 
 
  

Plastic black, jack screws 4-40 UNC

5|159

D-SUB Hoods and Accessories Attentuation factor at 10 MHz > 60dB  

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, shielded 
Side cable entry



09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X16169X

15

39
.6

2

9 165X16179X

25

53
.5

2

11

165X16189X

37 69
.8 165X16199X

50

67
.4

1

19 14
.5 165X16209X

 
 
  

Plastic grey, jack screws 4-40 UNC

09

/ 1

31
.3

39
.1

5

15

8

E2
02

78
4

165X16119X

15

39
.6

2

9 165X16129X

25

53
.5

2

11

165X16139X

37 69
.8 165X16149X

50

67
.4

1

19 14
.5 165X16159X

 
 
  

Plastic grey, jack screws with plastic head 4-40 UNC

5|160

D-SUB Hoods and Accessories Attentuation factor at 10 MHz > 60dB  

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, shielded 
Side cable entry



09

1 /

34 25

14
.5

8.
5

E2
02

78
4

165X10139X

15 42
.3

37

10 165X10149X

25 56

10
.5

165X10159X

37 72
.5 165X10169X

50 67 49
.1

19
.8

14 165X10179X

 
 
  

Plastic black, 4-40 UNC jack screws

09

1 /

34 25

14
.5

8.
5

E2
02

78
4

165X10909X

15 42
.3

37

10 165X10919X

25 56

10
.5

165X10929X

37 72
.5 165X10939X

50 67 49
.1

19
.8

14 165X10949X

 
 
  

Plastic metallized, 4-40 UNC jack screws

5|161

D-SUB Hoods and Accessories Integrated cable clamping 
On request: 
• M3 thread 

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoodss, two part 
Straight cable entry



09

1 /

34 25

14
.5

8.
5

E2
02

78
4

165X10239X

15 42
.3

37

10 165X10249X

25 56

10
.5

165X10259X

37 72
.5 165X10269X

50 67 49
.1

19
.8

14 165X10279X

 
 
  

Plastic black, 4-40 UNC jack screws 4-40 UNC hex bolt

09

1 /

34 25

14
.5

8.
5

E2
02

78
4

165X11009X

15 42
.3

37

10 165X11019X

25 56

10
.5

165X11029X

37 72
.5 165X11039X

50 67 49
.1

19
.8

14 165X11049X

 
 
  

Plastic metallized, 4-40 UNC jack screws 4-40 UNC hex bolt

5|162

D-SUB Hoods and Accessories Integrated cable clamping 
On request: 
• M3 thread 

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, two part 
Straight cable entry, Cable-to-cable connection



09

1 /

32
.9

39
.5

16
.3

11

E2
02

78
4

165X13369X

15 41
.2

45
.5 165X13379X

25 54
.9

52
.5

12 165X13389X

37 71
.4

55
.5

18
.7

15 165X13399X

50 69 55 19
.5

14 165X13409X

 
 
  

Plastic black, 4-40 UNC short screw

09

1 /

32
.9

39
.5

16
.3

11

E2
02

78
4

165X03309A

15 41
.2

45
.5 165X03319A

25 54
.9

52
.5

12 165X03329A

37 71
.4

55
.5

18
.7

15 165X03339A

50 69 55 19
.5

14 165X03349A

 
 
  

Plastic black, 4-40 UNC jack screws

09

1 /

32
.9

39
.5

16
.3

11

E2
02

78
4

165X13469X

15 41
.2

45
.5 165X13479X

25 54
.9

52
.5

12 165X13489X

37 71
.4

55
.5

18
.7

15 165X13499X

50 69 55 19
.5

14 165X13509X

 
 
  

Plastic metallized, 4-40 UNC short screws

5|163

D-SUB Hoods and Accessories
Suitable for Combination D-SUB Connectors

Large internal space for crimp, high power and  
coaxial contacts 
On request: 
• M3 thread 

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, large internal space 
Straight cable entry



09/15 5

24
.5

11
.2

11
.2 795-907600

25/37 7

27
.5

12
.2

15 795-907700

50 9.
3

29
.2

15 20 795-907800

 
 
  

Cable grommet for 9 - 50 pos. hood

5|164

D-SUB Hoods and Accessories
Suitable for Combination D-SUB Connectors

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, large internal space 



09

/ 1

32
.9

39
.5

16
.4

8.
6

E2
02

78
4

165X13419X

15 41
.2

45
.5

9.
4 165X13429X

25 54
.9

52
.5

13 165X13439X

37 71
.4

55

18
.8

15 165X13449X

50 69 19
.6

14
.9 165X13459X

 
 
  

Plastic black, 4-40 UNC short screws

09

/ 1

32
.9

39
.5

16
.4

8.
6

E2
02

78
4

165X13519X

15 41
.2

45
.5

9.
4 165X13529X

25 54
.9

52
.5

13 165X13539X

37 71
.4

55

18
.8

15 165X13549X

50 69 19
.6

14
.9 165X13559X

 
 
  

Plastic metallized, 4-40 UNC short screws

09/15 5

24
.5

11
.2

11
.2 795-907600

25/37 7

27
.5

12
.2

15 795-907700

50 9.
3

29
.2

15 20 795-907800

 
 
  

Cable grommet for 9 - 50 pos. hood

5|165

D-SUB Hoods and Accessories
Suitable for Combination D-SUB Connectors

Large internal space for crimp, high power and  
coaxial contacts 
On request: 
• M3 thread 

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, large internal space 
Side cable entry

D-SUB Hoods and Accessories
Suitable for Combination D-SUB Connectors

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, large internal space 
Side cable entry



09

1

/ 31
.2

31
.8

15
.6

8

E2
02

78
4

165X11919X

15

1

39
.5

37 165X11929X

25 53
.2

42
.2

10

165X11939X

37 69
.7 165X11949X

50 67
.3

18
.5

12
.5 165X11959X

 
 
  

Plastic metallized, 4-40 UNC short screws

09

1

/ 31
.2

31
.8

15
.6

8

E2
02

78
4

165X11869X

15

1

39
.5

37 165X11879X

25 53
.2

42
.2

10

165X11889X

37 69
.7 165X11899X

50 67
.3

18
.5

12
.5 165X11909X

 
 
  

Plastic grey, 4-40 UNC short screws

5|166

D-SUB Hoods and Accessories Integrated cable clamping 

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, fixed screws 
Variable cable entries



09

1 /

35
.8

37

12
.6

8

E2
02

78
4

165X16219X

15 44
.1

38 165X16229X

25 57
.9

41 9

165X16239X

37 74
.3 165X16249X

 
 
  

Plastic black, 4-40 UNC jack screws

09

1 /

35
.8

37

12
.6

8

E2
02

78
4

165X16299X

15 44
.1

38 165X16309X

25 57
.9

41 9

165X16319X

37 74
.3 165X16329X

 
 
  

Plastic metallized, 4-40 UNC jack screws

5|167

D-SUB Hoods and Accessories Space-saving, side-by-side mounting 
Packaging: in pack units as a single package

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods, low profile 
Straight cable entry



Part No.

09

/ 1

35
.8

37

12
.6

8

E2
02

78
4

165X16379X

15 44
.1

38 165X16389X

25 57
.9

41 9

165X16399X

37 74
.3 165X16409X

 
 
  

Plastic black, 4-40 UNC short screws

09

/ 1

35
.8

37

12
.6

8

E2
02

78
4

165X16459X

15 44
.1

38 165X16469X

25 57
.9

41 9

165X16479X

37 74
.3 165X16489X

 
 
  

Plastic metallized, 4-40 UNC short screws

5|168

D-SUB Hoods and Accessories Space-saving, side-by-side mounting 
Packaging: in pack units as a single package

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, low profile 
Side cable entry



Part No.

09

1 1

32 36
.7

16
.5

6.
3

E2
02

78
4

165X11239X

15 40 38
.2 8 165X11249X

25 54
.2

42
.2

10
.5 165X11259X

37 70
.6

47
.2

11
.5 165X11269X

50 68
.2

20
.6

13
.7 165X16539X

 
 
  

Plastic black, 4-40 UNC short screws

5|169

D-SUB Hoods and Accessories Entries not in use are blanked off with blanking 
plugs 

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

09

1 1

32 36
.7

16
.5

6.
3

E2
02

78
4

165X11279X

15 40 38
.2 8 165X11289X

25 54
.2

42
.2

10
.5 165X11299X

37 70
.6

47
.2

11
.5 165X11309X

50 68
.2

20
.6

13
.7 165X16549X

 
 
  

Plastic black, slide lock version including spring

D-SUB Plastic Hoods, integrated strain relief 
Straight and side cable entry



09-37 165X10119X

50 165X16609X

 
 
  

Locking hooks for 9-50 pos. hood

09

1 1

32 36
.7

16
.5

6.
3

E2
02

78
4

165X11319X

15 40 38
.2 8 165X11329X

25 54
.2

42
.2

10
.5 165X11339X

37 70
.6

47
.2

11
.5 165X11349X

50 68
.2

20
.6

13
.7 165X16559X

 
 
  

Plastic metallized, 4-40 UNC short screws

09

1 1

32 36
.7

16
.5

6.
3

E2
02

78
4

165X11359X

15 40 38
.2 8 165X11369X

25 54
.2

42
.2

10
.5 165X11379X

37 70
.6

47
.2

11
.5 165X11389X

50 68
.2

20
.6

13
.7 165X16569X

 
 
  

Plastic metallized, slide lock version including spring

No. of poles

5|170

D-SUB Hoods and Accessories Entries not in use are blanked off with blanking 
plugs 

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods, integrated strain relief 
Straight and side cable entry



Part No.

09

/ 1

31
.5

37

15
.2

8.
5

E2
02

78
4

600X54009X

15 40 600X54015X

25 53
.5

41

11

600X54025X

37 70 600X54037X

50 67
.8

18
.2

12 600X54050X

 
 
  

Plastic black, 4-40 UNC short screws

09

/ 1

31
.5

37

15
.2

8.
5

E2
02

78
4

600X55009X

15 40 600X55015X

25 53
.5

41

11

600X55025X

37 70 600X55037X

50 67
.8

18
.2

12 600X55050X

 
 
  

Plastic black, 4-40 UNC jack screws

5|171

D-SUB Hoods and Accessories Packaging: in pack units as a single package 

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods 
Side cable entry



09

/ 1

31
.5

37

15
.2

8.
5

E2
02

78
4

600X57009X

15 40 600X57015X

25 53
.5

41

11

600X57025X

37 70 600X57037X

50 67
.8

18
.2

12 600X57050X

 
 
  

Plastic metallized, 4-40 UNC jack screws

09

/ 1

31
.5

37

15
.2

8.
5

E2
02

78
4

600X56009X

15 40 600X56015X

25 53
.5

41

11

600X56025X

37 70 600X56037X

50 67
.8

18
.2

12 600X56050X

 
 
  

Plastic metallized, 4-40 UNC short screws

5|172

D-SUB Hoods and Accessories Packaging: in pack units as a single package 

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Plastic Hoods 
Side cable entry



Part No.

09

1 1

33

45
.5

17

7.
5

E2
02

78
4

165X13019X

15 41 8.
5 165X13029X

25 55 47 10
.5 165X13039X

37 71
.3

51 11 165X13049X

50 69 50 20 12
.5 165X13059X

 
 
  

Plastic black, 4-40 UNC short screws

09

1 1

33

45
.5

17

7.
5

E2
02

78
4

165X13079X

15 41 8.
5 165X13089X

25 55 47 10
.5 165X13099X

37 71
.3

51 11 165X13109X

50 69 50 20 12
.5 165X13119X

 
 
  

Plastic black, 4-40 UNC jack screws

5|173

D-SUB Hoods and Accessories

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB Plastic Hoods 
Straight and side cable entry



7W2 1 / 13-000220 13-002780

 
 
  

Plastic black, short screws Philips

7W2 1 / 13-000210 13-002770

 
 
  

7W2 1 / 13-000380 13-002760

 
 
  

7W2 1 / 13-000370 13-002750

 
 
  

Plastic black, jack screws Inbus

Plastic black, jack screws Philips

Plastic black, short scews Inbus

5|174

D-SUB Hoods and Accessories This hood can only be used in conjunction with the 
special connector. 
• Integrated strain relief  
On request: 
• Available with bridged singal contacts 

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tr

ie
s

Part No. Socket contact Part No. Plug contact

D-SUB Plastic Hoods 
With integrated crimp connector 7W2



Part No.

09

1 /

40 54
.3

21

7 
- 9 15-004710

15 48 54
.6

9 
- 1

1

15-004720

25 62 67
.7

10
 - 

12

15-004730

37 78

77
.2

25
.2

14
 - 

16

15-004740

50 75
.6

23
.8 15-004750

 
 
  

Plastic black, 4-40 UNC short screws stainless steel

15

1 /

40 54
.3

21

7 
- 9 15-004670

25 62 67
.7

10
 - 

12

15-004680

37 78

77
.2

25
.2

14
 - 

16

15-004690

50 75
.6

23
.8 15-004700

 
 
  

Plastic black, 4-40 UNC jack screws stainless steel

5|175

D-SUB Hoods and Accessories Water resistant hood for Standard and  
Combination D-SUB connectors 
For high power and coaxial contacts 
Packaging: in pack units as a single package

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

IP67 D-SUB Plastic Hoods 
Straight cable entry



09

1 /

40 54
.3

21

7 
- 9 15-004810

15 48 54
.6

9 
- 1

1

15-004820

25 62 67
.7

10
 - 

12

15-004830

37 78

77
.2

25
.2

14
 - 

16

15-004840

50 75
.6

23
.8 15-004850

 
 
  

Plastic metallized, 4-40 UNC short screws stainless steel

15

1 /

40 54
.3

21

7 
- 9 15-004770

25 62 67
.7

10
 - 

12

15-004780

37 78

77
.2

25
.2

14
 - 

16

15-004790

50 75
.6

23
.8 15-004800

 
 
  

Plastic metallized, 4-40 UNC jack screws stainless steel

5|176

D-SUB Hoods and Accessories Water resistant hood for Standard and  
Combination D-SUB connectors 
For high power and coaxial contacts 
Packaging: in pack units as a single package

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es

N
um

be
r o

f s
id

e 
ca

bl
e 

en
tri

es

M
ea

su
re

 A
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

Part No.

IP67 D-SUB Plastic Hoods 
Straight cable entry



09

1 /

40
.7

6

77

22

5 
- 1

0

E2
02

78
4

165X14869X

15

49
.0

6

79

6 
- 1

2

165X14879X

25 62
.8

87
.5 165X14889X

37

78
.8

6

99

9 
- 1

6

165X14899X

50

76
.4

6

10
7

24
.8

13
 - 

20

165X14909X

 
 
  

Part No.

09

1 /

40
.7

6

77

22

5 
- 1

0

E2
02

78
4

165X14819X

15

49
.0

6

79

6 
- 1

2

165X14829X

25 62
.8

87
.5 165X14839X

37

78
.8

6

99

9 
- 1

6

165X14849X

50

76
.4

6

10
7

24
.8

13
 - 

20
165X14859X

 
 
  

Plastic black, 4-40 UNC jack screws

Plastic black, 4-40 UNC short screws

IP67 D-SUB Plastic Hoods, large internal space 
Straight cable entry

5|177

D-SUB Hoods and Accessories Water resistant hood for Standard and  
Combination D-SUB connectors 
Large internal space for crimp, high power and  
coaxial contacts 
Accessories: Protection cap and Outside sealing 
made from TPE 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]



IP67 D-SUB Plastic Hoods, large internal space 
Straight cable entry

Part No.

09

1 /

40
.7

6

77

22

5 
- 1

0

E2
02

78
4

165X15019X

15

49
.0

6

79

7 
- 1

2

165X15029X

25 62
.8

87
.5 165X15039X

37

78
.8

6

99

9 
- 1

6

165X15049X

50

76
.4

6

10
7

24
.8

13
 - 

20
165X15059X

 
 
  

Plastic metallized, 4-40 UNC jack screws

5|178

D-SUB Hoods and Accessories Water resistant hood for Standard and  
Combination D-SUB connectors 
Large internal space for crimp, high power and  
coaxial contacts 
Accessories: Protection cap and Outside sealing 
made from TPE 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

N
um

be
r o

f s
tra

ig
ht

 c
ab

le
 

en
tri

es
N

um
be

r o
f s

id
e 

ca
bl

e 
en

tri
es

M
ea

su
re

 A
 [

m
m

]

U
L-

Fi
le

M
ea

su
re

 B
 [

m
m

]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

09

1 /

40
.7

6

77

22

5 
- 1

0

E2
02

78
4

165X15069X

15

49
.0

6

79

7 
- 1

2

165X15079X

25 62
.8

87
.5 165X15089X

37

78
.8

6

99

9 
- 1

6

165X15099X

50

76
.4

6

10
7

24
.8

13
 - 

20

165X15109X

 
 
  

Plastic metallized, 4-40 UNC short screws



09

44
.5

6

12
.6 25

.6

E2
02

78
4

165X17509X

15

52
.8

6

165X17519X

25 66
.6 165X17529X

37

82
.6

6

165X17539X

50

80
.2

6

28
.4 165X17549X

 
 
  

Protection cap

09

38
.3

6

20

9.
9

E2
02

78
4

795-305420

15

46
.6

6

795-305490

25 60
.4 795-305580

37
76

.8
6

795-305640

50 74
.5

22
.8 795-305710

 
 
  

Outside sealing

09 22
.9

10

160X10449X

15 31
.4 160X10459X

25 44
.7 160X10469X

37 61
.2 160X10479X

50 58
.8

12
.8 160X10959X

 
 
  

Plastic black

09 22
.9

11

600X518009X

15 31
.4 600X518015X

25 44
.7 600X518025X

37 61
.2 600X518037X

50 58
.8

13
.7 600X518050X

 
 
  

Plastic metallized

5|179

D-SUB Hoods and Accessories

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

U
L-

Fi
le

IP67 D-SUB Plastic Hoods, large internal space 
Straight cable entry

D-SUB Hoods and Accessories Dust cap protecting connector mounting area 
Temperature range: -35°C… +85°C

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [

m
m

]

Part No.

D-SUB protection caps 
Plastic design, for socket connector



09 22
.5

10

160X10409X

15

30
.6

5

160X10419X

25 44
.4 160X10429X

37

60
.7

5

160X10439X

50

58
.1

5

12
.8 160X10969X

 
 
  

Plastic black

09 22
.5

11

600X517009X

15

30
.6

5

600X517015X

25 44
.4 600X517025X

37

60
.7

5

600X517037X

50

58
.1

5

13
.7 600X517050X

 
 
  

Plastic metallized

5|180

D-SUB Hoods and Accessories Dust cap protecting connector mounting area 
Temperature range: -35°C… +85°C

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [

m
m

]

Part No.

D-SUB Hoods and Accessories Dust cap protecting connector mounting area 
Temperature range: -35°C… +85°C

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [

m
m

]

D-SUB protection caps 
Plastic design, for plug connector



09

31
.1

9

25

16
.7

9

12
.9

3

6.
12

8.
23

165X12969X

15

39
.5

2

33
.3

25
.1

2

165X12979X

25

53
.4

2

47
.0

4

38
.8

4

5.
99

165X12989X

37 69
.7

63
.5

55
.3 165X12999X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.9

5

165X13009X

 
 
  

Through-hole Ø 3 mm

09

31
.1

9

25

16
.4

6

12
.9

3

8.
02

165X13129X

15

39
.5

2

33
.3

24
.7

9

165X13139X

25

53
.4

2

47
.0

4

38
.5 165X13149X

37 69
.7

63
.5

54
.9

6

165X13159X

50

67
.3

1

61
.1

52
.5

5

15
.7

5

10
.8

7

165X13169X

 
 
  

Through-hole Ø 3 mm

09

31
.1

9

25

16
.7

9

12
.9

3

6.
12

8.
23

165X16719X

15

39
.5

2

33
.3

25
.1

2

165X16729X

25

53
.4

2

47
.0

4

38
.8

4

5.
99

165X16739X

37 69
.7

63
.5

55
.3 165X16749X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.9

5

165X16759X

 
 
  

4-40 UNC screws and clip

5|181

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

D-SUB shielded cap 
Metall design, shielded, for socket connector

D-SUB shielded cap 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

D-SUB shielded cap 
Metall design, shielded, for socket connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.



09

31
.1

9

25

16
.4

6

12
.9

3

8.
02

165X16769X

15

39
.5

2

33
.3

24
.7

9

165X16779X

25

53
.4

2

47
.0

4

38
.5 165X16789X

37 69
.7

63
.5

54
.9

6

165X16799X

50

67
.3

1

61
.1

52
.5

5

15
.7

5

10
.8

7

165X16809X

 
 
  

4-40 UNC screws and clip

09

31
.1

9

25

16
.7

9

12
.9

3

6.
12

8.
23

165X16909X

15

39
.5

2

33
.3

25
.1

2

165X16919X

25

53
.4

2

47
.0

4

38
.8

4

5.
99

165X16929X

37 69
.7

63
.5

55
.3 165X16939X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.9

5

165X16949X

 
 
  

4-40 UNC jack screws

09

31
.1

9

25

16
.7

9

12
.9

3

8.
02

165X17009X

15

39
.5

2

33
.3

25
.1

2

165X17019X

25

53
.4

2

47
.0

4

38
.8

4

165X17029X

37 69
.7

63
.5

55
.3 165X17039X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.8

7

165X17049X

 
 
  

4-40 UNC jack screws

5|182

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB shielded cap 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB shielded cap 
Metall design, shielded, for socket connector

D-SUB shielded cap 
Metall design, shielded, for plug connector



09

31
.1

9

25

16
.4

6

12
.6

6.
12

8.
26

16-001050

15

39
.5

2

33
.3

24
.7

9

16-001060

25

53
.4

2

47
.0

4

38
.5

5.
99

16-001070

37 69
.7

63
.5

54
.9

6

16-001080

50 67 61
.1

1

52
.5

15
.3

8

6.
12

11
.0

7

16-001090

 
 
  

4-40 UNC screws

09

31
.1

9

25

16
.7

9

12
.6 8

16-001150

15

39
.5

2

33
.3

25
.1

2

16-001160

25

53
.4

2

47
.0

4

38
.8

4

16-001170

37 69
.7

63
.5

55
.3 16-001180

50 67 61
.1

1

52
.8

1

15
.3

8

10
.8

1

16-001190

 
 
  

4-40 UNC screws

09

31
.1

9

25

16
.4

6

12
.6

6.
12

8.
26

16-000840

15

39
.5

2

33
.3

24
.7

9

16-000850

25

53
.4

2

47
.0

4

38
.5

5.
99

16-000860

37 69
.7

63
.5

54
.9

6

16-000870

50 67 61
.1

1

52
.5

15
.3

8

6.
12

11
.0

7

16-000890

 
 
  

4-40 UNC steel jack screws

5|183

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

D-SUB shielded cap with lanyard 
Metall design, shielded, for socket connector

D-SUB shielded cap with lanyard 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

Part No.

D-SUB shielded cap with lanyard 
Metall design, shielded, for socket connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]



09

31
.1

9

25

16
.7

9

12
.6 8

16-000950

15

39
.5

2

33
.3

25
.1

2

16-000960

25

53
.4

2

47
.0

4

38
.8

4

16-000970

37 69
.7

63
.5

55
.3 16-000980

50 67 61
.1

1

52
.8

1

15
.3

8

10
.8

1

16-000990

 
 
  

4-40 UNC steel jack screws

09

31
.1

9

25

16
.4

6

12
.6

6.
12

8.
26

16-000280

15

39
.5

2

33
.3

24
.7

9

16-000290

25

53
.4

2

47
.0

4

38
.5

5.
99

16-000300

37 69
.7

63
.5

54
.9

6

16-000310

50 67 61
.1

1

52
.5

15
.3

8

6.
12

11
.0

7

16-000320

 
 
  

4-40 UNC stainless steel jack screws

09

31
.1

9

25

16
.7

9

12
.6 8

16-000380

15

39
.5

2

33
.3

25
.1

2

16-000390

25

53
.4

2

47
.0

4

38
.8

4

16-000400

37 69
.7

63
.5

55
.3 16-000410

50 67 61
.1

1

52
.8

1

15
.3

8

10
.8

1

16-000420

 
 
  

4-40 UNC stainless steel jack screws

5|184

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB shielded cap with lanyard 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

D-SUB Hoods and Accessories Shielded cap protecting against EMI/RFI  
Shell: steel tin plated 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

D-SUB shielded cap with lanyard 
Metall design, shielded, for socket connector

D-SUB shielded cap with lanyard 
Metall design, shielded, for plug connector



09

31
.1

9

25

16
.7

9

12
.9

3

6.
12

8.
23

165X14719X

15

39
.5

2

33
.3

25
.1

2

165X14729X

25

53
.4

2

47
.0

4

38
.8

4

5.
99

165X14739X

37 69
.7

63
.5

55
.3 165X14749X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.9

5

165X14759X

 
 
  

4-40 UNC screws and clip

09

31
.1

9

25

16
.4

6

12
.9

3

8.
02

165X14769X

15

39
.5

2

33
.3

24
.7

9

165X14779X

25

53
.4

2

47
.0

4

38
.5 165X14789X

37 69
.7

63
.5

54
.9

6

165X14799X

50

67
.3

1

61
.1

1

52
.5

5

15
.7

5

10
.8

7

165X14809X

 
 
  

4-40 UNC screws and clip

09

31
.1

9

25

16
.7

9

12
.9

3

6.
12

8.
23

165X17109X

15

39
.5

2

33
.3

25
.1

2

165X17119X

25

53
.4

2

47
.0

4

36
.8

4

5.
99

165X17129X

37 69
.7

63
.5

55
.3 165X17139X

50

67
.3

1

61
.1

52
.6

8

15
.7

5

10
.9

5

165X17149X

 
 
  

4-40 UNC jack screws

5|185

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: steel tin plated 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

IP67 D-SUB protection cap with gasket 
Metall design, shielded, for socket connector

IP67 D-SUB protection cap with gasket 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: brass tin plated 
Jack screws: stainless steel 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

IP67 D-SUB protection cap with gasket 
Metall design, shielded, for socket connector

Part No.

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: steel tin plated 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]



09

31
.1

9

25

16
.4

6

12
.9

3

8.
02

165X17209X

15

39
.5

2

33
.3

24
.7

9

165X17219X

25

53
.4

2

47
.0

4

38
.5 165X17229X

37 69
.7

63
.5

54
.9

6

165X17239X

50

67
.3

1

61
.1

52
.5

5

15
.7

5

10
.8

7

165X17249X

 
 
  

4-40 UNC jack screws

09

31
.1

9

25

16
.4

6

12
.6

6.
12

8.
26

15-000010

15

39
.5

2

33
.3

24
.7

9

15-000020

25

53
.4

2

47
.0

4

38
.5

5.
99

15-000030

37 69
.7

63
.5

54
.9

6

15-000040

50 67 61
.1

1

52
.5

15
.3

8

6.
12

11
.0

7

15-000050

 
 
  

4-40 UNC jack screws stainless steel

09

31
.1

9

25

16
.7

9

12
.6 8

15-000110

15

39
.5

2

33
.3

25
.1

2

15-000120

25

53
.4

2

47
.0

4

38
.8

4

15-000130

37 69
.7

63
.5

55
.3 15-000140

50 67 61
.1

1

52
.8

1

15
.3

8

10
.8

1

15-000150

 
 
  

4-40 UNC jack screws stainless steel

5|186

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: brass tin plated 
Jack screws: stainless steel 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

IP67 D-SUB protection cap with gasket 
Metall design, shielded, for plug connector

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: brass tin plated 
Lanyard: stainless steel 
Jack screws: stainless steel 
On request: 
• M3 thread

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 F
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

Part No.

D-SUB Hoods and Accessories IP67 Protection cap with gasket 
Protection against EMI/RFI 
Shell: brass tin plated 
Lanyard: stainless steel 
Jack screws: stainless steel 
On request: 
• M3 thread

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

IP67 D-SUB protection cap with gasket and lanyard 
Metall design, shielded, for socket connector

IP67 D-SUB protection cap with gasket and lanyard 
Metall design, shielded, for plug connector



6.
5

4-40 UNC 4-40 UNC

740-353770

8.
0 740-331370

11
.0 740-331570

13
.0 740-331870

14
.0 740-331670

4.
0

M3

M3

740-354470
7.

0 740-320570

8.
0 740-342470

13
.0 740-365270

4.
0

4-40 UNC

740-354370

7.
0 740-320170

13
.0 740-344970

 
 
  

Single hex bolts packaging unit 200 pieces

8.
0

4-40 UNC 4-40 UNC

160X10359X

14
.0 160X10639X

8.
0 M3 M3 160X10529X

 
 
  

Single hex bolts set packaging unit 100 pieces

8.
0 4-40 UNC 4-40 UNC 160X10329X

 
 
  

Screw locking set packaging unit 100 pieces

5|187

D-SUB Hoods and Accessories

Part No.Le
ng

th
 A

 [
m

m
]

In
te

rn
al

 th
re

ad

Ex
te

rn
al

 th
re

adD-SUB Hardware accessories 



4-40 UNC 160X10379X

 
 
  

Hex bolt nut .228”  5.8 mm

765-329670

 
 
  

Flat washer

765-329570

 
 
  

Spring ring

4-40 UNC 765-329770

M3 765-329870

 
 
  

Nut

5|188

D-SUB Hoods and Accessories

Part No.In
te

rn
al

 th
re

adD-SUB Hardware accessories 



09-37

steel

13
.3 160X10259X

50 15
.9 160X10659X

 
 
  

Set 4-40 UNC Screw locking with clamp

09-50 stainless steel 160X00470A

 
 
  

Set 4-40 UNC Screw locking with clamp

09-50 brass 16-505750

 
 
  

Set 4-40 UNC Screw locking with clamp

5|189

D-SUB Hoods and Accessories

Part No.N
o.

 o
f p

ol
es

M
at

er
ia

l

M
ea

su
re

 A
 [

m
m

]

D-SUB Hoods and Accessories

Part No.N
o.

 o
f p

ol
es

M
at

er
ia

l

D-SUB Hardware accessories 

D-SUB Hardware accessories 



09 35 27
.4

12 160X10159X

15 43
.3

35
.7

11
.5 160X10169X

25 57 49
.4

12

160X10179X

37 74
.4

65
.9 160X10189X

50 72 63
.5

15 160X10199X
 
 
  

Set Slide lock Type 3

Assembly Example

09-37 steel 160X10239X

 
 
  

Set spring locking

Assembly Example

5|190

D-SUB Hoods and Accessories Set spring locking: 
• 2 spring clips 
• 2 wire clamp holders 
• 2 clamps 
• 4 M3 screws 
• 4 M3 nuts

N
o.

 o
f p

ol
es

M
at

er
ia

l

Part No.

D-SUB Hoods and Accessories Slide lock Type 3  
(for direct assembly to connector) 
• 1 frame 
• 2 self threading screws for plastic and metal 

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

D-SUB Hardware accessories 

D-SUB Hardware accessories 



09 35 27
.4

12 160X10689X

15 43
.3

35
.7

11
.5 160X10699X

25 57 49
.4

12

160X10709X

37 74
.4

65
.9 160X10719X

50 72 63
.5

15 160X10729X
 
 
  

Set Slide lock Type 4

09-50 160X10209X

 
 
  

Set Holding bolt for slide lock type 3 + 4

Assembly Example

5|191

D-SUB Hoods and Accessories Slide lock Type 4 (for hood assembly) 
• 1 frame 
• 2 4-40 UNC screws 
• 2 flat washers 
• 2 spring rings 
• 2 4-40 UNC nuts 

Part No.N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

D-SUB Hoods and Accessories Holding bolt set: 
• 2 hex bolts 
• 2 flat washers 
• 2 spring rings 
• 2 nuts 

Part No.N
o.

 o
f p

ol
es

D-SUB Hardware accessories 

D-SUB Hardware accessories 



09

49
.0

2

40
.2

8

24
.9

9

20
.2

17
.2

160X10889X

15

57
.3

5

48
.6

2

33
.3

2

28
.8 160X10899X

25

71
.2

5

62
.5

1

47
.0

4

42
.5 160X10909X

37

87
.5

3

78
.7

9

63
.5

59
.1 160X10919X

50
85

.1
4

76
.4

61
.1

1

56
.3

20
.0

4

160X10929X

 
 
  

Blind mating frame

09-50 160X10949X

 
 
  

Blind mating guide posts

Assembly Example

5|192

D-SUB Hoods and Accessories Blind mating - Plug-in system: 
Material: Steel nickel plated 
• Mounting for mating applications consist  
   of frame and float mount  
• Frame is factory assambled 

N
o.

 o
f p

ol
es

M
ea

su
re

 A
 [m

m
]

M
ea

su
re

 B
 [m

m
]

M
ea

su
re

 C
 [

m
m

]

M
ea

su
re

 E
 [

m
m

]

M
ea

su
re

 D
 [

m
m

]

Part No.

D-SUB Hoods and Accessories Blind mating - Plug-in system guide pin 
Material: Steel nickel plated 

Part No.N
o.

 o
f p

ol
es

D-SUB Hardware accessories 

D-SUB Hardware accessories 


